YDoK aneebpb!
8 [ Kacce.






VMHOXCHHE

MHOIO4YJ1€eHa
Ha

MHOIO4YYJI1EH.



Llenmn
YpOKa:



= 8bl6ecmu npasuiO YMHRONCEHUA
MHOcOYNNEHA HA MHOZSOYJIEH,

= HAYYUMbCA YMHOWHCAMb MHOcOYUIEH
HA MHOZOYJIEH,

= PAS6UBUAINDB MBIUL/IEHUE,
BBIHYUCTAUMETITBHBIE HABBLIKU,

- paseuedams meop4ecKue cnoco6nocmu;

= 60CNUMbBI6AMb 6HUMARUE.



YPOKa.



YCTHbI




BEITOTHATS YMHOKEHIE:

1 2 3
' 3a (2a+3B—1);

2 3 2 3 3
- XY (-3Xy +X y—Xx+Yy);

(-2xy )" (-3xy ).



BMmecTO 3B€310YKH 3alIUIITNUTE
TaKOM OIHOYIEH, YTOOBI

BBIIIOJIHAJIOCHh PABCHCTBO.
O-(n+Kk)=mn+ mk;

(a+Db)l=-xa-xb;

1-(ab-B)=ab-al

J

3 2 2
(a—b )l =-ab+ab.



AN

HOBOM
TeMbl.




I Ipumep:
(atb)(ct+d)=

ac+ad+bc+bd



BH BOZI.’ Hmober ymHodNcums

MHO204/1eH Ha MHO204J1eH, HYHCHO
KAXHCOBIU YIeH 00H020 MHO20YIeHA
VYMHONMCUMb HA KAHCObIU YNEH
0pY2020 MHO20UTIeHA U NONYYEHHbIE
NPOU3BEOCHUS CONMCUMD.



PaccMOTpHM IIPUMEDEI
npumMmep1.

BoimonHumb YMHOXCERUE.
(a-1)(b+2)=

a-b+a-2—1-b—-1-2-

= ab+2a-b-2




pumep 2.

HANTH IPOU3BEICHHUE:
(2+3x)(3-2y)=
= 0-4y+9x-0xy




npumep 3.

BbINONHUTE YMHOKEHHE:



npumep 4.
YIPOCTHTE BEIPAKECHUE:

(x H3y)(2x-y')=
=2X -X Y +6X’y-3y







